FETA K 20204 F7K iz 3h /R T RS A=
FFE| e |HE| AEa SRR AR |188h R L R 4 AL RGN B
1 | AER| 5 R K27 S v 2% — 83. 47 A VR 1 = 7K P IE B 5 SR B B2k 1 65%
2 | &tk | 5| wka RN e il 253 5 81,93 | EIREG EUKIEE) TORAUY I 65%
3[R W O| M A3 85— R e 2 —2 81.6 ORI
4 |BIEM| 5| EhE | SRR E S e | — 2 81. 2 — R
5 |Fecks| 9| %A IR T 5 rp —% 78.86 | A GRS RS H65%
6 |t % | gl R L T 55— e 4 78. 13 AR b K 1B 2 B B
T | Gm| B | KA RN i il 253 % 74.8 IR KIS B) BRI ik
8 | Theps| 5 | b | AAUmEAEMEERER | —% 71.46 HEIRA 3 1R KT8 Bl R Iy M2
9 |@Emsl B | mRos AT o — o2 — 714 AR 1 KPS Bl B SR EL o B 2k
10 [BEERR| % | ik i L 74— o 5 7133 LR 3 B KT B BRI Sk
11 |EisiE] 5 | MR HEAHT T 25— 2 % 66. 53 AR 1 KT IS Bl SR B B2k
12 |54 8 | stk ATV 1 et —% 63. 86 et
13 | Figms) 5 | HEe IR — 2 — % 60. 8 s
14 | TR 5| ik HS B8 717 X 0 90 o 2 — % 58. 8 s
15 | s] B | BRIt AR ks 52. 14 Atk
16 || 9 | P G0 ST L e —% 51. 33 A
17 |khEEE] 5 | Al HiniX B - 49, 67 Rt




